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pH 75 — — — — 6.9 6.9 6.8 6.9 —
w_ B (E) 2.02] — — e — 054 047] 0.00] 000|] —
0, B (E) 200 — — — — 0.00f 0.14] 0.29] 0.14] —
E 260 0.0431 — — — —- 0.014] 0.013] 0.014] 0.013] —
0.5 1 Hokr 7 5¢A/mi) —
1 2 BB 73/ mD) 20083 |  — — — — 9891 | 8373 55 21 —
3 Bk 7 BB /) 7504 | — — — — 1164 987 3 o —
7 o B F-E (18 /mi) 996 — — — — 91 76 0 0 —
12 p BRI 4 /ml) 172 — — — — 13 12 0 0 —
15 p 0BT 8 (18 /mD) 90 — — — — 6 6 0 0 —
Ty kR B — — — — — — — —
BREEE (mg/)) — — — — — 0.6 0.5 0.6 0.5 0.6
845 /KEE (mm) — — — — — — — 395( 1294 —
B EEELA (%) 3.62] — — — — 0.59 | 0.53] 0.021] 0.001] —
pH HEhEHH 7.3 — — 6.8 6.8] — — — — —
PR A EEI (me ) — - — — — — — — — 0.7

213
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BRI R ,
e~water H2HEIN—7
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e~watera[FSZBok &l ek
HEHA ERE154E9H 128 (4) KiE : Bh HYE AIHER Gy
HIERFE 1BlE 9:30  2@EIB 13:30 Fe 4mg/l 152G=250+250 2% G=550+550
JEFNAY TavIIERK, DoAY WA _—
HH AR o1 Ne 2 No. 1] No 2 No. 1] Ne 2 | No. 1| No_ o | EoeAm
7K im_(°C) 241 — — e — 24.5 2471 247 249] —
pH 73] — — — — 6.8 6.7 6.8 6.7 —
) B () 2.38| — — — — 0.43] 0.38] 0.00] 0.00] —
@ F(E) 229 — — — — 0.00] 0.00] 0.00] 0.00] —
E 260 0.046 | — — — e 0.012| 0.013] 0.056 | 0.057 ] —
0.5 u PR 7458 /mi) —
1 0 BB 7S/ mi) 23806 | — — — — 8128 | 7745 39 53| —
3 0 o T /m) 10312 — e —— B 757 787 3 7] —
7 1 B TR/ m) 1624 | — — — — 50 64 0 1| —
12y SR 3/ ml) 306 — — — —— 5 7 0 0 —
15 1 RIS (& /mi) 165 — — — — 2 3 0 0 —
70y PRk B — — — — — — — —
EBEES (mg /1) — — — — e 0.7 0.6 0.6 0.5 0.6
H/KEH (mm) — — — — — — — 1181 | 1221 —
BE E A () 3.7 — — — 0.41 0.41] 0.005 | 0.003| —
pH BB 73] — — 6.7 6.8 — — —
PR B BRI (me ) — — — — — — — — — 0.8
7K W (°C) 23.9] — - — — 24.2 24.1 244 247 —
pH 7.4 — — — - 6.7 6.7 6.7 6.7 —
wFE () 2.19] — — — — 0.43] 0.39] 0.00] 0.00] —
&, BE(E) 257 — — — — 0.57 0.43] 0.29| 0.43] —
E 260 0.047] — — — - 0.017 | 0.017] 0.016] 0.014] —
0.5 2 P 75 /ml) —
1 0k 7 4L/ ml) 26727 — — — - 25121 | 24038 84 57 | —
3 Bk 7-3(R/m)) 25266 | — — — — 8088 | 4920 5 4] —
7 1 BB (B /ml) 8128 | — — — — 224 94 0 0] —
12 u BB 2/ ml) 539 — — — — 12 5 0 0 —
15 41 B0k 7 (8l /ml) 190 — — — — 4 2 0 0] —
70y PR — — — — o — . —
PRI (mg /1) — — — — — 0.7 0.6 0.6 0.5 0.6
fER/KEE (mm) — — — — — — — 405  1426] —
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PRI B BIE I (e D) — — — e — — — — — 0.7
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e-waters [F LK E ek R~
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YRL15%E A H

U KE R |

e-water Ea2#fEs/N—7

AR ERWG TV IR

e—waters @ EBokE ekt 2

AR ERISHEIAI8H(K) KEh BYE fiH BEE @
HIERE 1EEB 9:30 2[E H Fe 4mg/! 132G=250+250 23&G=550+550
TR Ty IR TR A8 e

RH B o1 [ Ne 2 | No. 1] No 2 | No. 1] No. 2 | No. 1| No. & | Zvokl
7K ik (C) 243 — — — — 24.5 245 | 245 2451 —
pH 741 — — — — 6.8 6.8 6.8 6.8] —
] E(E) 2.06 | — — — e 0.41 0.38] 0.00] 0.00] —
) E () 2571 — — — — 0.14| 0.14] 0.291 o0.14] —
E 260 0.050 | — — — — [0.018 0.016 | 0.016| 0.015] —
0.5 u Hohi 748/ ml) -
1y ok 735 (f8l/m) 21649] — — e — 7782 7559 41 40]  —
3 u Bk 7 $(fB/mD) 9540] — — — - 770 815 2 1| —
7 1 BT ER (R /ml) 1644 — - - — 61 78 0 o] —
12 41 BRI B8/ m]) 311 — — — - 7 11 0 o] —
15 11 0BT 750 (f8 /) 166] — - — — 3 6 0 o] —
7uy) PR — — — — — — — —
EREE (ng /1) — — — — — 0.6 0.6 0.6 0.5 0.5
/K8 (mm) — — — — — — — 1235 | 1242 —
B A EEL () 3.04 | — — — — 0.46 ] 0.48] 0.008| 0.004| —
pH A BhEHI 72] — — 6.8 6.8 — — — — —

PRI B 3 (me D) — — — — — — — — e 0.6
7K w (C) 23.5] — — - — 24.0 23.9] 24.0 24.1] —
pH 74 — — — — 6.8 6.8 6.8 6.7 —
&) E(E) 1.9] — — — — 0.391 0.35] 0.00] 0.00] —
) BE(E) 0.71] — — — e 0.14 | 0.14 0.14] 0.00] —
E 260 0.045 | — — — — 0.014 | 0.014 | 0.013] 0.013] —
0.5 ORI 7 B(f# /ml) — — — — —
1 1 0BT 7418/ mD) 22038 | — — — — 7524 | 6776 121 36| —
3 1 Bk F B8/ m)) 8032 | — — — — 754 676 5 1| —
7 1 B0k -3l /mi) 1079 — — — — 51 46 0 0] —
12 12 087 7 $(8/ml) 171 — — — — 5 4 0 0] —
15 1§80k 758 /m)) 86| — — — — 2 2 0 0] —
7ay ) Pk fE — — — — e — — —
EEER (ng1) — — — — — 0.6 0.5 0.6 0.5 0.5
KA (mm) — — — e — — — 399 1443 —
B QBN (F) 2.8 — — — — 0.56] 0.42] 0.04] 0.003] —
pH HBh3HA 72— — 6.8 6.8 — — — — —

PRI B BhEH (me 1) — — — — — — — — — 0.6
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pH 7.4 — - — — 6.8 6.8 6.8 6.8] —
e E(E) 220 — — — — 0.35| 096 0.00] 0.04] —
) () 253 — — — e 0.00] 0.00] 0.14] 0.14] —
E 260 0.050 | — — — — 0.017| 0.018] 0.018] 0.016 | —
0.5 1 B0 7 35 (fE/mD)
1 41 B0 7 (/) 21740 — — — — 7015 7035 43 44 —
3 2 BHORT 735l /m) 9566| — — — — 752 771 1 ] —
7 1 BT 73 (/) 1700] — — — — 65 76 0 of —
12 0K 7B /m) 333 — — — — 8 12 0 of —
15 12 o 73 (fE/m)) 179] — — — s 3 6 0 o] —
70y IR — — — — — — — -
EEHE (mg /1) — — — — — 0.6 0.5 0.6 0.5 0.5
HLKEE (mm) — — — e — — — 1141 | 1190 —
B BB () 43.20 | — - — — 0.4301 0.43 | 0.008] 0.010| —
pH [ BhHll 7.1 — — 6.9 7.0 — — — — —
IR B B8] (me ) — — — — — — — — — 0.7
7K H (°C) 23.2] — — — — 20.3]  20.4] 20.4] 20.5] —
pH 73] — — — — 7.2 7.2 7.1 721 —
W E () 3.5 — — e — 1.96| 1.84| 0.00] 0.00] —
@& E(FE) 229 — — — — 0.46 | 0.61] 0.30] 0.61] —
E 260 0.027| — — — — 0.045 | 0.044 | 0.047] 0.044| —
0.5 1 BB 7-F (& /ml)
1 1 BB 7% /ml) 23882 — — — — 6864 6668 154 54  —
3 1 B 73518 /mI) 10331 — — — — 767 733 6 2l —
7 1 Bk 730/ ml) 1569] — — — — 70 76 0 o] —
12 50 73/ m) 301 — — — — 11 12 0 0] —
15 u PR 7- 28/ ml) 161 — — — — 5 §) 0 0 —
70y P B0 — — — — — — — —
BEEE (mg/1) — — — — — 0.6 0.5 0.6 0.4 0.5
% KEE (mm) — — — — — — — 399] 1431] —
B QBRI (F) 44.3] — — — — 1.81 1.90 | 0.006 | 0.000] —
pH A 813 7.1 — — 6.8 6.8] — —- — — —
TR A #hEH (me D) — — — — — — — — — 0.8
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L1 A H

R |
e~water FE2MERI7N—7
BRERWG TR
e—water&HERKE N ERE R
ERB O ERLISHE9H22A () KIEhoOLED HYE BiH ERE ED
RIERER  1EE 9:30 2[HEH Fe 4mg/l 17%G=250+550 23 G=550+250
e ] 7ay I K A A1 N
A R o TNo 2 No. 1] No. 2 | No. 1] No.2 [ No. 1| No_ g | Lrok
7K m (°C) 192 — — e e 19.2 19.2 19.2 192 —
pH 741 — e — — 6.7 6.7 6.7 6.7 —
b B () 986 | — e — — 1.19 1.74] 0.00] 0.00] —
v (E) 8.14| — — — — 0.43] 0.43] 0.43] 029 —
E 260 0.075| — — — — 0.022 ] 0.021] 0.0221 0.022] —
0.5 1 BCRIFH(IE /ml) —
1 40 BT 73R/ ml) 24705 — — — e 17154| 17487 44 49 —
— | 3 o 7/ ml) 19336] — — — — 2921] 2764 1 1 —
7 BRI T3R8/ m) 3490 — — — B 129 130 0 o] —
12 1 B0k ¥ 3B/ m) 341 — — — — 9 11 0 0] —
15 g Bks -2 ({8 /ml) 148 — — — — 3 4 0 0] —
[\ {70y kR T — — — — — — — —
PR (mg /1) — — — — — 0.5 0.4 0.4 0.3 0.4
TR 27K BH (mm) — — — — — — — 1156 | 1131 —
B ABEH (F) 1223 — - — — 1.02 1.03] 0.009 | 0.006| —
B {pH B ®8EH 7.2 — — 6.7 6.7 — — — — —
TR EBE (me ) — — — — — — — — — 0.3
7K |\ (C) 20.5] — — — — 20.4]  20.4]  20.3] 20.4] —
pH 7.5] — —— — e 6.8 6.8 6.8 6.8] —
() 7.0] — — — — 0.97] 0.88] 0.00] 0.00] —
) B () 6.43 | — — — — 0.57 | 0.43 0.43] 043 —
E 260 0.075 | — — — — 0.022 | 0.022 | 0.022] 0.022 —-
0.5 u FERLT- 51/ m) — — - — —
1 1 0B T3/ m)) 26186 | — — — — 18673 | 17328 180 91| —
T3 B A /D) 18544 | — —— — — 3149 | 2249 6 5] —
7 1 BRI 73X/ m) 3543 | — — e — 179 132 0 0] —
12 1 08 73 /) 552 | — — — — 18 15 0 0| —
15 p S0 7 B ({8 /ml) 225 - — — — 7 1 0 0 —
6] |7 ny ) ik B B — — — — — —- - —
RRBEFE (mg D) — — — — — 0.5 0.4 0.4 0.3 0.3
B 7KEH (mm) — — — — — — — 367 1341 —
B HEEH () 9.85| — - o — 0.81]  0.77] 0.045] 0.006] —
E {pH HBhEH 73] — — — — — — —
7Rt A BhEH (mg D — — — — — — — — — 0.4
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BREBRWG M TV
e
B SERLISE9H24H (k) K& AYE gilH AR &Y
HEEERD 1EIB 9:30 2@B 13:30 Fe 4mg/ 1%G=250 2%G=5500
RAITE Tuy I AL R A -
B H B e T I No 3 [ No 1] No. 2 | No. 1 [ No 2| No. 1] No_ 2| 2l
7K m_ (°C) 202 — — — — 19.9 20.9] 2091 21.1] —
pH 7.5] — — — - 6.8 7.2 7.2 71 —
w_E () 407 — o — — 0.83] 290] 0.00] 0.00] —
) () 443 — — - — 0.14}1 0.86] 0.86] 057] —
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R E (mg 1) — — — — 0.7 0.6 0.6 0.5 0.6
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B G EEH () 6.76 [ — — 0.70 | 0.84] 0.005| 0.003| —
B lpH @ #hah 72 — — 6.8 6.8 — — — — —
FEE B BE U (me D) — — — — - s — 0.6
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pH S I N I i A I R A
W JE () — — — — — — — — — —
o (E) — — — — — — — — — —
E 260 — — — — - — — — — —
0.5 1 BORE T4k /m) — — — — — — — — — —
1 BT T 4(fE/ m) — — — — — — — — — —
T 3 Bl (/) — — — — — — — — — —
7 1 B0 12/ m) — — — — — — — — — —
12 p AR -FBc(f18 /ml) — — — — — — — — — —
15 1 B0 T3l / o) — — — — — — — — — —
[B] {7ry 7 ok fead — — — — — — — — — —
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AL KEH (mm) — — — — — — — — — —
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e-waterfHEBACEHIEiER
AWA ERI15%H9H26H (£) 0 K& HYE fiE HER E
BIEEFR] 1EE 9:30 2EE Fe 4mg/l 1%G=250 2% G=5500
RIS 78y AL AT Ak ——
= A o T TN 2 No 11 No. 2| No. 1| No 2 [ Neo 1] Na_ 5 | oA
7K w_(C) 209 — — I — 20.9 20.9] 2081 209 —
pH 7.4 — — — —- 6.8 6.8 6.8 6.8] —
b E(E) 463 — — — — 0.99] 0.96]| 0.00] 000 —
) E () 443 — — — — 0.43 | 0.29 0.29] 029 —
E 260 0.068 — — — — 0.014 [ 0.014 | 0.014] 0.014] —
0.5 1 fo8r T4 (8 /mi) — — — — —
1 g0 B0k 785 (f8l/m) 26105 | — — — — 17221 | 17036 26 30 —
3 BT T 38/ ml) 15417 — — — — 2267 | 2054 2 2 —
7 11 BRI BB/ ml) 1959 | — - — — 103 88 | #REF! | #REF! | —
12 41 BT 7 B /m)) 2719 — — — —- 9 8 | #REF! | #REF! | —
15 41 B0k 301/ m) 141 — e — — 3 3 | #REF! | #REF! | —
7ay ) kR — — — — — — — — — —
BREER (mg/1) — — — — — 0.6] 0.5 0.6 0.5 0.6
T4 KEE (mm) — — — — — — — 970 | 1010 —
BE ABEE(F) 3.85 | — — — — 0.97] 0.77 | 0.005] 0.002 | —
pH EBhaH 7.3 — - — — — — —
PR E BN (me ) — — — — — — — — — 0.6
7K B (C) — — — — — — — = — —
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B E (F) — — — — — — — — — s
@, E(E — — — — — — — — — —
E 26 0 — — — — — — — - - -
0.5 1 Bkt 7B (I m) — — — — — — — — — —
1 B0 74181/ mi) — — — — — — — — — —
3 1 BT 7S (f8/mi) — — — - — - - — — —
7 11 KT T/ ml) — — — e — — = — — —
12y BT 745 ({8 /mi) — — - — — — — — — —
15 1 ik 7 $0({/oml) — — — — — — — — — —
70y IR — — — — — — — — — —
BRBMEH mg,) | — | — [ — | — | — | — T —
i KEE (mm) — — — — — — — — — —
B EEEhN () — — — — — — — — — —
pH H8hEHA — — — e — — — — — —
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7 u BT 74 fBl/m) 2317 — — — — 108 100 | #REF! | #REF! | —
12 2 Bk 7508l /m) 400 — — — — 13 11 | #REF! | #REF! | —
15 1 BB 7 $(fl/m) 209 — — — — 5 5| #REF! | #REF! | —
7oy PR — — — — — — — —
EREH (mg/1) — — — — — 0.8 0.6 0.7 0.6 0.7
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pH B #EH 4] — e 6.8 6.8 — — — — —
PRE A A (e ) e e — — — — — 0.7

7K B (C)

pH
wWoE (E)
B (F)

E 260

0.5 p B5hr 1 (8 /ml)

1 4o Bokr - 35/ ml)

3 p BRI B (f#/ ml)

7 p PR E (8 /m))

12 o Pk 3 (f#/mb)

16 p ok - 35 (fiE /)

70y ) Pk R

FREMEE (ng /1)

HJ/KEH (mm)

W HEE (B

pH B #hE

B E A (me D)
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ERel15% A H
MR AR KR

e-water FE20fELI7N—T

ARIERWG i TV 7

e—~wateré&mEBRKE

SRE ERISEI0A06H () FED Y gim BER @

HERR 1EAB 9:30 2[EA Fe 4mg/l 152G=250 2% G=550+550
IEFORS 70y K LB WAl -

HH R o T T Ne 2 No. 1| No 2 | No. 1] No.2 | No. 1| No_ 2 |2 0AE
7K B (C) 19.0] — — — — 19.1 19.1 19.0] 19.0] —
pH 75 — — — — 6.9 6.9 6.9 6.9] —
) E(E) 245 — — — — 0.44] 0.41] 0.00] 0.00] —
@ B 2.14| — - — —- 0.00] 0.00] 0.00] 000 —
E 260 0.055 | — — — — 0.017 | 0.017] 0.017] 0.017] —
0.5 1 B0k 73/ mi) —
1y o 738l ) 20943 — — — — 7715 7251 34 32] —
3 1 B0 T8/ ml) 8920 — — — — 724 679 1 o] —
7 11 BT T E5(f8/m) 1127 — — - — A7 46 0 o] —
12 41 B0k 7 B ({8l /m) 170]  — — — — 5 5 0 o] —
15 11 B0k 7 3 (8l /m) 83 — — — —- 2 2 0 0 —
70y )Pk — — — — — — — —
SR (ng 1) — — — — — 0.7 0.6 0.6 0.5 0.6
HJKEH (mm) — — — — — — — 981] 1128 —
W A BRI () 5,00 — — — 0.44 0.36] 0.009| 0.006| —
pH E#hEH 4] — — 6.8 6.8 — — —
A EBEF ] (me D) — — — — — — - — 0.6

A _wm(o | — | — [ — = e

pH — | - == =1T=1T-—T—=—1T-=T71T+=
W (E) — | =V =V = =1 =1 =1 =1 =] =
6 s | | — | — | — [ — | — | — | — | — T —
E 260 il I I A I I I e e
0.5 1 1S/ m) — | =l = =] = =1 =1 =1 =1 =
e B A/ m) — — — — - - — — — -

3 BT AL 8/ m)

7 1 ok - 5418/ ml)

12 0 P07 28/ ml)

15 1 Bk T2 (fEl/mD)

7y ) P IR R

PR (mg 1)

HIKEH (mm)

W EEhE ()

pH BEEH

7R B EIEL I (me )
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